Geometry

Test Review 2

Find the area of each circle. Use your calculator's value of 7. Round your answer to the
nearest tenth.
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Find the radius of each circle. Use your calculator's value of . Round your answer to the
nearest tenth.
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Find the area of each sector” Round your answers to the nearest tenth.
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Find the surface area of each figure. Round your answers to the nearest hundredth, if

necessary.
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Find the volume of each figure. Round your answers to the nearest hundredth, if necessary.
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24) A sphere with a diameter of 11.4 km.

23) A sphere with a diameter of 23 m.
[63%0. 3] 5. 73]
25) A sphere with a radius of 12 ft. 26) A sphere with a diameter of 9.6 m.
+2338.33 103 . 25

Find the missing info in each problem. Round your answers to the nearest tenth.

(27) Find the length of the arc of the smaller sector.
(28) Find the length of the arc of the larger sector.

(29) Find the area of the larger sector.
(30) Find the area of the smaller sector.
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31) Find the radius of a sphere given the 32) Find the radius of 3,3 sphere giventhe
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surface area is 678.92 cm*, 4N *= 1% 92 volume is 32.65 ft
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33) The area of circle OU is 4556.8 77

area of sector DUH is 818.55 ft°. Find the
indicated measure.
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€) perimeter of shaded region
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Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent
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17(1+4) = 3 (€4 % )

o= LY 8 %
4Y =% X

tFind thte measure of the line segment indicated. Assume that lines which appear ‘angent are
angent,
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44) Find CE 30 = 15 (1%t x +20) 45) Find CD % (4 42x-13)
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46) Find VU 1(7142x-1 )= 3 (946 ) 47) Find UV 30%= a1 (2714 2« $3.1 )
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48) Find LM
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